
ŝǆ

'$)7$5�,6,
$%675$. ���������������������������������������������������������������������������������������������������������������������������������LY

$%675$&7 ����������������������������������������������������������������������������������������������������������������������������������Y

.$7$�3(1*$17$5����������������������������������������������������������������������������������������������������������������YL

8&$3$1�7(5,0$�.$6,+ ���������������������������������������������������������������������������������������������������� YLL

'$)7$5�*$0%$5���������������������������������������������������������������������������������������������������������������� [LL

'$)7$5�7$%(/ ��������������������������������������������������������������������������������������������������������������������[LY

'$)7$5�,67,/$+������������������������������������������������������������������������������������������������������������������[YL

'$)7$5�6,1*.$7$1�������������������������������������������������������������������������������������������������������� [YLL

%$%�,��������������������������������������������������������������������������������������������������������������������������������������������

3(1'$+8/8$1������������������������������������������������������������������������������������������������������������������������

����/$7$5�%(/$.$1* �������������������������������������������������������������������������������������������������������

����7XMXDQ� �������������������������������������������������������������������������������������������������������������������������������

����5XPXVDQ�0DVDODK ��������������������������������������������������������������������������������������������������������������

����%DWDVDQ�0DVDODK ����������������������������������������������������������������������������������������������������������������

����0HWRGRORJL�3HQJHUMDDQ ������������������������������������������������������������������������������������������������������

����6LVWHPDWLND�3HQXOLVDQ ��������������������������������������������������������������������������������������������������������

%$%�,, ������������������������������������������������������������������������������������������������������������������������������������������

/$1'$6$1�7(25, �������������������������������������������������������������������������������������������������������������������

����/RQJ�7HUP�(YROXWLRQ��/7(�����������������������������������������������������������������������������������������������

����0HWRGH�'XSOH[�/7( ����������������������������������������������������������������������������������������������������������

����)HPWRFHOO����������������������������������������������������������������������������������������������������������������������������

����$UVLWHNWXU�'DVDU�)HPWRFHOO ������������������������������������������������������������������������������������������������

����0RGHO�3URSDJDVL�,QGRRU�����������������������������������������������������������������������������������������������������

����&DSDFLW\�3ODQQLQJ��������������������������������������������������������������������������������������������������������������

������(VWLPDVL�8VHU �����������������������������������������������������������������������������������������������������������������

������6HUYLFH�DQG�7UDIILF�3DUDPHWHU ���������������������������������������������������������������������������������������

������6LQJOH�8VHU�7KURXJKSXW �������������������������������������������������������������������������������������������������

������1HWZRUN�7KURXJKSXW ������������������������������������������������������������������������������������������������������

������6LQJOH�6LWH�&DSDFLW\ �������������������������������������������������������������������������������������������������������

������0HQJKLWXQJ�-XPODK�$QWHQD��)$3� ��������������������������������������������������������������������������������

����&RYHUDJH�3ODQQLQJ �����������������������������������������������������������������������������������������������������������



ǆ

������'HQDK�GDQ�/XDV�*HGXQJ ������������������������������������������������������������������������������������������������

������/LQN�%XGJHW ��������������������������������������������������������������������������������������������������������������������

������(,53�GDQ�0$3/ ������������������������������������������������������������������������������������������������������������

������0RGHO�3URSDJDVL�&RVW����0XOWLZDOO �����������������������������������������������������������������������������

������/XDV�$UHD�&DNXSDQ��������������������������������������������������������������������������������������������������������

������-XPODK�$QWHQD����������������������������������������������������������������������������������������������������������������

����7(06�32&.(7 ����������������������������������������������������������������������������������������������������������������

�����5DGLR�3URSDJDWLRQ�6LPXODWRU �����������������������������������������������������������������������������������������

%$%�,,, ����������������������������������������������������������������������������������������������������������������������������������������

3(5$1&$1*$1�-$5,1*$1�)(072&(// �������������������������������������������������������������������������

����'HVNULSVL�3UR\HN�$NKLU�����������������������������������������������������������������������������������������������������

����3URVHV�3HUDQFDQJDQ�����������������������������������������������������������������������������������������������������������

����6XUYHL�/RNDVL�	�'DWD��������������������������������������������������������������������������������������������������������

����/D\RXW *HGXQJ������������������������������������������������������������������������������������������������������������������

����:DONWHVW�%HIRUH �����������������������������������������������������������������������������������������������������������������

����&DSDFLW\�3ODQQLQJ �������������������������������������������������������������������������������������������������������������

����� (VWLPDVL 8VHU �����������������������������������������������������������������������������������������������������������������

��������/DQWDL�'DVDU ����������������������������������������������������������������������������������������������������������������

��������/DQWDL�'XD�������������������������������������������������������������������������������������������������������������������

��������/DQWDL�7LJD ������������������������������������������������������������������������������������������������������������������

��������/DQWDL�(PSDW ���������������������������������������������������������������������������������������������������������������

������6HUYLFH�DQG�7UDIILF�0RGHO�3DUDPHWHU����������������������������������������������������������������������������

������6LQJOH�8VHU�7KURXJKSXW �������������������������������������������������������������������������������������������������

������1HWZRUN�7KURXJKSXW ������������������������������������������������������������������������������������������������������

������6LQJOH�6LWH�&DSDFLW\ �������������������������������������������������������������������������������������������������������

������-XPODK�$QWHQD����������������������������������������������������������������������������������������������������������������

����&RYHUDJH�3ODQQLQJ �����������������������������������������������������������������������������������������������������������

������3HUKLWXQJDQ�/LQN�%XGJHW �����������������������������������������������������������������������������������������������

������3HUKLWXQJDQ�0RGHO�3URSDJDVL ����������������������������������������������������������������������������������������

������3HUKLWXQJDQ�5DGLXV�&HOO�������������������������������������������������������������������������������������������������

������-XPODK�$QWHQD����������������������������������������������������������������������������������������������������������������

%$%�,9����������������������������������������������������������������������������������������������������������������������������������������



ǆŝ

$1$/,6,6�+$6,/�3(5$1&$1*$1���������������������������������������������������������������������������������������

����'HVNULSVL�6LPXODVL ������������������������������������������������������������������������������������������������������������

����3HQHQWXDQ�-XPODK�)$3�GDQ�/HWDN�)$3����������������������������������������������������������������������������

����:LULQJ�'LDJUDP ����������������������������������������������������������������������������������������������������������������

����6LPXODVL�3HUHQFDQDDQ �������������������������������������������������������������������������������������������������������

������$QDOLVLV�+DVLO�6LPXODVL�%HUGDVDUNDQ�566,��������������������������������������������������������������������

������$QDOLVLV�+DVLO�6LPXODVL�%HUGDVDUNDQ�6,15 �������������������������������������������������������������������

������$QDOLVLV�3HUIRUPDQVL�SDGD�3DUDPHWHU�/7(��������������������������������������������������������������������

%$%�9 �����������������������������������������������������������������������������������������������������������������������������������������

3(18783 �����������������������������������������������������������������������������������������������������������������������������������

����.(6,038/$1�����������������������������������������������������������������������������������������������������������������

����6$5$1�����������������������������������������������������������������������������������������������������������������������������

'$)7$5�3867$.$������������������������������������������������������������������������������������������������������������������


